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Q.1. Encircle the right answer, cutting and overwriting is not allowed. (1x10=10)
J x sinx dx =7
(1)
(a) x(cosx +1) + ¢ (b) —xcosx + sinx + ¢
P (€) xsinx + cosx + ¢ (d) none of these
.. | If f(x) = secxtanx, then f'(z)=2
(ii) '
(a) 0 (b) -1 (c) 1 (d) none of these
l_dx:__ sy B
i) |V
@ ®-r - (c)_i—}f__ - (d) none of these
W) Every polynomial functionis .
| (a) linear (b) trigonometric (c) differentiable (d) exponential
lim 2 =}
(v | x1]x]|
(a) -1 (b1 (c) O (d) none of these
... | Domain of Vx + 13 +vV5 — x is
(vi) i
(a) -13<x<5 (b)-5<x<13 (c)5<x<13 (d) none of these
) x
lim (1 : “—) =7
(pff) X—+00 X
(a)o (b) e? (c);‘; - (d) none of these
(viii For what value of x, the inequality 4x — 7 > 5(x + 10) is satisfied o
viii) '
Ll @2 @ (b4 (c) 6 (d) none of these
sin(2x)
m————="
(iv) | *0sin(3x)
2 k
(a) ~ _ (b)g (c) 1 (d) none of these
= 53 T
I3 —1i) is
. (V3 r_L is equal to
(a) 3v3 (b) 8i (c) -8i (d) none of these
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Q.2 SHORT QUESTIONS
, . ) —_— _
| r . sin3ycotsy

(i) |Evaluate ;’5% T 4)
(ii) | Evaluate [ x®Vx3 + 11dx. 4)

d 1 :
@iii) | Ify = In(x + Vx2 + a?), then prove that ﬁ = et 4)
(iv) | LetlI= f oy 3){ dx. Does this integral converge or diverge?. (4)

- — —— 1
]
W | (;raph the function y = 1z — x| + 3. ) I
ST —: ¥ ]
LONG QUTSTIONS
Il 03 Find the reduction formula of [cosec"xdx and use it to ©)
"~ | evaluate [cosec®x dx.
1
| Q4 | Evaluate lmé(u’gy - (6)
| Q5 Ify = acos(ln x) + bsin(]n x), then prove that (6)
| =7 | x2y®D 4 Qn+ Day®™* D+ 2+ 1)y"=0. _
Q.6 | Find thg Maclaurin series of f(x) = In(1 + x) with its remainder term. (4+2) |
Evaluate the integral fn’fz e 1 i
. Q.7 I g 0 (1+sinxcosx) (6)
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Q.1. Encircle the right answer, cutting and overwriting is not allowed. (1x10=10)

lim Vx =7
@ |
(a) 0 (b) 1 (c) undefined (d) none of these
The derivative at y = 1 for the function S(y) = ;’;7 is
(”) 1 1 3 1
(@) —3 (b) 7 (c) —3 (d) 3
= S =
lim =7
“”) =0 tanx
(@) 0 (b) 1 (c)2 (d)
Differentiation of a function implies
(iv) :
fi?r)“?mstence o (b) integrality (c) continuity (d)allabandc
If z is a complex number, then Zz is
(v)
(a) real (b) complex (c) zero (d) prime
- The function y = |x| is not differentiable at
Vi |
v {(a) (-5,0) (b) (0,5) (c) zero (d) none of these
If functions f and g are continuous at x=c, then the algebraic combinations are
(vii) continuous at x=c
|
(@) f+g (b) f3 ©)f.g (d) all of these |
| What is the magnitude of the complex number —1 — iv3
(viii) (a) 2 (b) -2 ()0 (d) none of these
. x4+ 64
lim =7
(ix) |*x-+ x+ 4
(@) (b) 16 (c) 48 (d) co
(V3 +i) is equal to
(x)
L (@) 33 (b) 8i (c) —8i (d) none of these
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Q.2. Short Questions. (5x4=20)
r (i) I|| Evaluate lim %;-E ’I (4) [-
-_— _,_._j_____I
|| () | Evaluate [x*Vx? + 16 dx. 4 |
[-_‘”_.L_ —_— ] T
) ( Find derivative w.r.t ‘x' of Invtan—1 2x. ) ||
sl e T
| (iv) Let | = j_*f Al dx. Does this integral converge or diverge? |’ (4) |'
e e I A |
® | Graph jony= |1~ 2|
| O [Smntetnciny=it-d-1 K3
Long Questions. (5x6=30)
‘l Q.J iEUaantEJ‘m;(xz'—*Lidx (6} |

SRR AN

Q4

Find the reduction formula of [ Sec™x dx and use it to evaluate [ Sec3x dx.

— . 8
{ Q5 | Showthat lim =2 % — l
r_Q | that l—l_lj'?, 0 (6) |
| I SV » JU S — —F S AN
Q.6 | Ify = tan~"x, show that (1 + x%)y" + 2xy’ = 0. Hence find the value of Yy (). I 6)

|
Il Q.7 For what values of a, m and b does the function

| . .3' x=0
I fx)=3-x+4+3x+a 0<x<1 (6)

|

— - E — J
—_— ____1 == _.___1

|

|

mx + b, 1sx<2 ‘!
|
i

lSatisfy the hypothesis of the mean value theorem on the interval [0,2].
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